HPAS General Studies Question Paper

Held On 29 June 2025

5 Cunzi::.ler the following statements .
Gieic

(1) Atacama is a coastal desert.
(2) Rub-el-Khali is a cold desert,

(3) Sahara desert annually receiveg moy
¢ than 50 em of rainfall.

(4) Cold deserts generally have 2_95,,
dnnual temperature.

Choose the correct answer from the ...
given below :

(A) (2) and (4) only B @ and @ only

(C) (1) and (3) only D) (2) ang (g only

ffefan w9 w faear Fifd -

(1) THM TF T TeRE R

(2) FI-TI-@rel TH Vid gEEd ¥

(3) W W d so ¥ ¥ s i ad o R

(4) ¥ weRrc @ afts oA g 2-250 A wm g
e Ry M e § ¥ ol ww o e A

(A) @ed (2) 3R (4) (B) @ad (1) 3R (4)

(C) #ad (1) iR (3) @) e (2) 3 (3)
TBC : ECP/25/B/I—D 9



2.

Cnnsidor the I'nllm\'in

Pradesh, .

l:'e“lilitum is around 80 percent.
(2) Debt as g PEI‘CEntage

(A) (1) and (3) only
(©) (1) and (4) only

s -
la!&l'tmnls regarding public finance

A =on S T B | “'\ _'1“:_W-.

ik

of IIlm:gl-h:‘l

® for the vear 2024-25, shar, of revenye

' : 9995 FT TR W
(4) 2024-25 (BE) 94 % drM foie @ wreen &5 51 wom

8575 Hilg ¥ aEfed frd T ¥
& <l {14 :
T fahedl § ¥ WE oW Hifer
- (1) 3R (3) (B) wHew (1) 3R (2)
N : (1) 3R (4) D) Had (2) 3R (8)
(C)

3
TBC : ECP/25/B/I—D
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3. According to PLFS 2023'24‘ share or Secondary and tertiary sector in total

sradesh .
employment in Himachal 1 rade respectively are :

(A) 25 percent and 30 percent (B) 27 percent and 30 percent

percent (D) 18 percent and 25 percent

(C) 22 percent and 24
frereret TR e e fdren iR gt F e

PLFS 2023-24 & 381,

Y
L(A) o5 wiiea Td 30 WX (B) 27 yfmm wd 30 wimwm

(c;zzv;rﬁfmt{é24uﬁrm (D) 18 wfayw wd 25 wiaw@

According to Census 2011, consider the following statements regarding sex ratio

(females per 1,000 males) in Kullu district :

Statement I : Sex ratio in 2011 is lower than in 1911.

Statement II : Sex ratio in 2011 in Kullu District is lower in Himachal.

Choose the correct option :

(A) Both Statements are correct
AB) Only Statement I is correct

(C) Only Statement II is correct

(D) Both Statements are incorrect

2011ww€;aﬁaﬂa§ﬁfaﬁ$ﬁha§qm(nﬁwiwﬁmmow)ﬁ#aﬁ
i frefafag s K faar ®ifd

FuT I : 2011 &1 Fdm e 1911 ¥ FH ©
‘aﬁuﬂn:mﬁiﬁﬁzm1m%{n@mﬁnﬁaﬁm%1

frefafea famedi & | w8 s gfE @

(A) T wgA W § (@) faw & 1§ &

(C) fa% Fu I @&t ¥ @) I wE T T €

TBC : ECP/25/B/fI—D 4



5. Consi
nsider the follnwing Stay
= EanL
R -

(1) Kibbar js th
2 e large ]
st Wildijg, Sanctyary in Himachal Pradesh

(2) Kheergan .
8a Nationg] p
a
L Wag established in 1994 in Himacha| Pradesh ¢

(3) Tarla wildlife Sanctuary of 1

(4) Chail wildlig ‘Machal Pradesh has an area of 464 ypy2,
© Senctuary of Himachga) Pradesh was established i 1962,

Choose the correet answer from the options given below :

(A) (1) and (3) only (B) (1) and (2) only

(C) (1) and (4) only *(D) (2) and (4) only

fFrefafas o R faar st .

(1) mmmwmmmﬁﬁa FVIRTT ¥

(2) femraet Sed H W T e v 1994 F O 4y

(3) feurae WYl & OREl J0Si" MERT & OTFA 46.4 51 o ¥
(4) Terrel 9o &1 d9Q I SENTE 1962 W i@ TR o @y

3 fe T e 8§ W IR T w0

(A) =ae (1) ¥R (3) B) Haa (1) 3R (2)

(C) @ad (1) IR (4) (D) Had (2) 3R (4)
PTO.
TBC : ECP/25/B/I—D b



6. Match List T with List 1T

List-I List-II
(Scheme) (Ministry)
(@) Atal Pension Yojana @) Ministry of Communications
(b) Startup India Scheme (i) Ministry of Finance a
(¢) Eco-NIWAS (fii) Ministry of Commerce and Industry &
(d) BharatNet (iv)  Ministry of Power

Choose the correct answer from the options given below :
@ (b ) @
A G i) @) O
S ® @) G ® @)
I{'E) (@) @ @) @)
M) @) Gv)y @ @)
gt [ &1 g 19 fram ik

el 1 ¥ 10
(=hm) (HAT)
(@) oA U¥E el () TER HAEH
(b) W e whia Gi) Tam deE
(c) FhI-FamE (i) foeg w@ S Hee
(d) ¥RE= (iv) TR e

Ha fu e fasedt § ¥ W IW H g R
(@) @) @ (@)
(A @) i) Gv) 6
B) @) Gi) @ G
(Cy @) & @) (v
D @ Gvy @ G
TBC : ECP/25/B/I—D 6



7.

«(A) National Physical I,

Which of the following iﬂﬂlilutes drafted the Legal Metrology (IST) Rules, 2025 7

(B) Physical Research Laborat,,
nv

(C) Central Scientific Ing .
Strumeny isation
(D) National Institut S Uppanisn -
oo e fnr_lnterdlsciplinaﬂr gcience and Technology

R fF ¥ 2 TR § g frgetet (FETEAL) 99 2005 F1 =
(A) T dfvs W §

(B) “ifdss sTHaY™ wammmen 3
(C) s SAMH ITFW Ty 3

(D) T Ffawas famm s dems g 3

8. Match List I with List IT -
List-I List-II
(Author) (Book)
(@) Mahatma Gandhi () The Political Future of India
(b) J.L. Nehru (ji) Pakistanor The Partition of Ind
(¢) Dr. B.R. Ambedkar (iii)y Whither India =
(d) Lala Lajpat Rai (iv) Guide to London «
Choose the correct answer from the options given below :
(@ B ) (@
(A) @) @) G @
v(B) (iv) @) @) G
(C) .G @) Gv) @)
@) @Gi) G @ )
gt I @ g 11§ e HIS
gt 1 'EE:”I 11
( Tr‘i'?aﬂ () & wifafera W A6 oA
2 R L
(b) VT TEE i) i il
() Sl @3 IS ECT ('.”) _
(d) wren aTa T (i) TS iﬁﬁq_
3 fru e fed @ W IR F I A
(@ (B (© (d)
(A) Gv) @) () (i)
(B) Gv) @i () (ii)
(C) @) @) () (i)
D) @) @iy @) (iv) .
mor - RWOPORMRMI—D



their respective region.

(i)
(i1)
(iii)
(iv)

List-11
(Region)
Odisha
Andhra
Kerala

Meghalaya

the options given below :

Ewﬁaﬁﬁmﬁmmﬁﬁ%éﬂﬁﬁamﬁﬁﬁ:

gt 11
(&)

9.  Match the Tribal Leaders with
List-1
(Tribal Leader)
(@) UTirot Sing
(b) Thalakkal Chandu
(¢) Alluri Sitaram Raju
(d) Chakra Bisoi
Choose the correct answer from
@ G © @
(A) Gy @ i) @)
B) (i) G @ v
Ao @ G G @
W(D) (fv) GiD) @) @)
el 1
(anfeardt =an
(@) il f&m

(b) daEEd T9g
() ITeell Hias s,

(d) o faed
@ ) © (@)
A @ @ G (o)
M) @) @) @ (o)
(C) () @) Gi) (v)
D) Gv)y G G @)

TBC : ECP/25/B/I—D

(@)

IS

(f) Y
(i) =%
(iv) W
F feu U fawed § @ WE IW H G IS



10. In which ¢
ase SUPI'Eme
cannot be considereg its YU decided that not singing of National Anthem

. di
(A) Bijoe Emmanuye] cas 'STespect or offence ?

(C) Maneka Gandh; Cas: (B) Braj Bhushan case

o= ey Y e (D) M.C. Mittal case

e (A) ﬁﬁlﬂﬁ'ﬁﬁaﬁq}g

(C) H=1 it g (B) o« O %d
11. Match List I with Ligt I . @) tmd. fawa
p List-1I
(a) (Industry)
) Qilk Textile Industry
© Woollen Textile Industry

Sugar Industry
(@) Cotton Textile Industry
Choose the correct answer from the pptions given below :
(@ O () (@@
A @ G GD (v
(B) Gv) G @ (i)
Gv) G) GE) @)
O G @ G G
gt I & g I 9 frem S e

el 1 e 1
€215)) (Im)
(@) ®arsl () Yo 9w S
(b) TiETH Gi) TN G IAm
(jv) T I S

(d) AEA
3 frr o frwed § ¥ W S T R

@ & @ @
A) G G GiD) ()
(B) Gv) G @ G
€ G(v) @ i) @
D) Gv) & @) G ]
TBC : ECP/25/B/I—D



12. Match List 1 with I

. ]
st | List-11

List-I (Peak)
(Range) i)  Gali Konda
(@) The Aravalli Rang® //(Ei) Guru Shikhﬂf@
®) The Satpura Ra™% 7 Gy gargubai @
(¢©) The Western Ghats - (iv) Dhupgarh o}

Ghats .
@) The Besier! pr from the options given below :

Choose the correct ansW

@ @& © @
A G Gu Gi) @
By Gy G @ @)
© G) G G @
O ) @ G G
T I g 1@ frer i
ol gt 11
(Sroft ar sf@e) =
@ SEe S @) e i
() wager S @) T frex
© e (i) Hrerges
@ g sy
4 U T frred # ¥ W@ SR oW e hy
@ @) @ @
(A @) Gv) G @)
(B) @) (@) @) (iv)
©C) @ & @y (iv)
D @ @ () g

TBC : ECP/25/B/I—]
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13. Match List I with List 11 .

List-1 List-11
(Social Reformerg) (Orgnniantion]
(@) Raja Ram Mohan Roy @) gatya Shodhak Samaj d
(6) Swami Dayanandg () Ramakrishna Mission(©
() Swami Vivekanandg (iiiy Brahmo Samaj ®
(d) Jyotiba Phule © () Arya Samaj b

Choose the correct answer from the options given below :
(@ ®) (@© (@
A @ G Gv) GiD)
. B) @) Gv) @) @)
(C) @) vy @ (i)
M) Gv) @ @) ()
gt I g 119 foem i .

gt I g=t 10
(FuTST GEE) ()
(@) T THEET g () T YNUH HHS
(b) @t TIFR @) HFw faeA
(c) T fadsrig (iif) 9@ GHE
(@) <Eifqen ge (iv) 3 QU=

d fou U faedl # | W@ IW B FIE SiSQ
@ b (@ (@
A @& @ Gv) @@
B) Gi) Gv) @) )
€ @) Gv) 6 Gi)
D) G @ @) @)
IBC : ECP/25/B/I—D 11



g = - ¥ e R

@ Match List 1 with List 1T List-11
List-1

L1 i3 & STs)
( tit tiﬂﬂ“[ (Reser‘vntlﬂﬂﬁ fﬂ
Constitu r S

Amendments)

5 iority In
(@ 77th Amendment (i) “Cunsequentml Seniority
a LI m 3

Reservation )
(6) 81st Amendment i) Reservations in Pﬂr;nf}:m;:larks
(¢) 82nd Amendment (i) Relexation in Quali 5;“ gd
@) 85th Amendment (iv) Carry forward unfulfille

vacancies of SC & STs
Choose the correct answer from the options given below :
(@ @) (@ ()
(A) D) @v) i)y @)
(B) ) @) @) (iv)
(C) Gi) Gv) ) @D
(D) @) @) () @O
gt 1 = gt 1 & foom g
get 1 = 11

(Faenfies |ies) (ergfam wifa @ S STTET)
(@) 77al G¥iyA () SRgw § ''oftor aftesa”
(b) 81al HINHA (i) TEH H AREW
(c) 823 |EMEA (ifi) Ira@ FE H g2
(d) 85al TeleH (iv) 3w wifa 9 st fom o= =
M SR @A

9 e M fwed # ¥ W@ IW W gIE W
(@ B @ (@
(A G Gv) (D) @)
B) @) @) i) G
(C) (i) Gv) G @G)
D) @) G Gv) @)
3C : ECP/25/B/I—D 12
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15. Match the following economie policies with their launch years :

List-1

List-II
(@) PM-KISAN ) 2016
(6) Ayushman Bharat Gy 2019 (12
() Startup India i) 2018(¢
(d) Gati Shakti (v) 2021 b

Choose the correct answer from the options given below :
(@ @) @ (@
(A) @) G @  @Gv)
B @ Gv) G @)
@ (C) @) @ G @
M G @ ) 3G)
Frforaa afds Aifadl &1 9 Wiy ou @ fam FiE

gt 1 Tt 11
(@) um-fEam | (i) 2016
(b) SISEM I (i) 2019
) TrEa 3fed (iff) 2018
(d) T v (iv) 2021

F% e o fwed @ @ WA TW A T A
@ &) @ @
(A) @) @) @ )
B) @ @Gv) @) @)
(C) @) G) (v

MY (Y () (1) (111)



16. Matech the following inflation metrics with their values for FY 2024-25 (April-

—Y . A — ———— ——

December) @
List-1 List-11
(@) CPI Inflation (%) M 21
(b) Food Inflation (%) () 8.4
() Core Inflation (%) (i) 5.4
(d) WPI Inflation (%) (iv) 3.5
Choose the correct answer from the options given below :
(@ B (@ (@
(A G Gi) @) (iv)
(B) @) (o) G G
(C) ) () vy @
D vy @) G i)
faw 9d 2024-25 (dm-faden) ﬁa‘hﬁtﬂ%ﬁﬂﬁ@?ﬁﬁlﬁﬁmmﬁwﬁ
HeE s .
T 1 LU
(@) HHiAE GerEhifd (%) B 21
(b) W HEERITd (%) (ii) 8.4
(¢) &R TEERITA (%) (iii) 5.4

(d) S=equiamE Harehia (%) (iv) 3.5
4 fer o fasedt § ¥ 98 W F ¢ S .

(A)
(B)
(C)
(D)

(a)
(if)
(@)
(£ii)
(iv)

@ @ @
() @ Go)
(iv) G (i)
) Gv) @)
@ ) Gi)

TBC : ECP/25/B/1—D 14



T L

17. Match List T with List 1y

List-1

(ICFRE Centre)

(@) IWST
(6) IFB
(¢) IFR
(d) RFRI

Choose the correct answer

List-ll
(Place)
() H_Vdernbad
(ij) Jorhat
(i) Bengalurd

(iv) Ranchi

@ ® © (@
A) G G @ Gi)
B) ) @) Gv) @)
© Gid) @ G @)
@) Gii) @) @ i)
et I = gt 11 & forem =i .
gt 1 T 11
(3Te 1. .31 3. @9 (xem)
(@) .= T2 () teER
(b) STE.qE (i) e
(c) oTE.TH.AR. (ifi) <TIE
(d) STR.TH.3TTITE. () T
ﬁmmﬁmﬁﬁﬁuﬁmaﬂaﬂﬁaﬁhﬁ:
@ B @ (@)
(A @) @) @ (i2t)
(B) @) @) (@v) (zi)
©) Gii) @ Gv) @)
D) Gi) G @ G

TBC : ECP/25/B/I—D

15

from the gptions given below :

) 534 bl



19. Match List I with List 17 .

List-I

{Function)

List-II

(Part of digestive canal)

(@) Absorption of food

(b) Killing of bac
() Chewing of foo

i) Stomach
etin (i) Large intestine
(ifi) Samll intestine

(d) Formation of faeces ~——— (iv) Buccal cavity

Choose the correct answer from the options given below :

(@ ®&) © @
JA) G (D (v) D)
(B) & i) G (v)
(C) Gi) Gv) Gi) @
D) i) G @ Go)
=t 1w g= 118 fream st
=t 1 et 11
(feram) (3R ATA =hT W)
(@) 99 Y= H SEUaT (i) mERE
(b) Sam] = FT () gea
() Mo |1 =@l (i) &5
(@) e @& i (iv) T@ Tfew
ﬁmmﬁﬁtﬁﬁﬁaﬂmm?ﬁaﬂﬁﬂ :
@ (b)) © @
(A) GiD) @) Gv) (@)
B) G G ) v
@ (@) Gv) G
O Gid @ @ @)

TBC : ECP/25/B/1—D

17

P.T.O.
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20.  Match List I with L
List-I
(Day)
(@) Jan Aushadhi
(6) World Sparrow
(¢) Pi Day

ist 11 °

Diwas

, \(H} March 20
Day
\:Eii) March 07

(d) World Heritage D2

Choose the correct answé

(@ (B (@
(2) (iid) () (v)
B) @) @a) ()
(C) i) Gvy O
M G @ G

(d)
0
(@)
(i)
(it)

List-1I
(Date)
(£) April 18

iv) March 14@ |

r from the options given below :

et 1w g 11 9 fram S

TET I
(fe=m)
(@) wA Aufu feom
(&) fawa it ke
() WE 2
(d) Taza v fRedm

i
(ferfen)
@) s 18
(@) ¥ 20
(i) == 07
(fv) wTE 14

A3 faq g fwed 48 A W H1 gTE @R

(@ ) (@
(A) @@ ) Go)
(B) (i) Gi)) (iv)
(C) @) (v) @
D) Gy G (o)
TBC : ECP/25/B/I—D

(d)
(@)
(@)
(it)
(if)

18




21. Match List I with List 11 :
List-I
(Name of Peak)
(@) Mt. Whitney
() Mt. Logan
(c) Ben Nevis
(d) Mont Blanc

Cho
ose the correct answer from the options given below :

(@ @) () (@
(A) @) @) Gv) G
(B) &) @) Gv) Gi)
(Cy &) Go) ) (iv)
D @) @) Uid) ()

List-IT
(Cauntl'}’)
() Canada
(i) US.A

(7)) France

(iv) Scotland

gt 1w gE I 8 faam sisd .

it 1
(=T & Am)
(@) TTHe T
(b) HIHS TMH
(c) = Afas
(d) ®f= =hw

e 10

(F)
(i) /AT
(if) Y.UH.T.
(if)) wid
(iv) THleie

F9 fu o faecdl § ¥ W& SW F LT B

(@ G @@ (@)
(A) @G @) (v @)
B) ) @) (v G
(C) ) @G @) Gv)
D) & G i) Gv)
TBC : ECP/25/B/I—D

19



T RN TN e

ial worker popularly called “Sindhi G .
itician and SOCIAT D y ce 1 andhi” iy
22. Who was the politicianl

the Sindh region, and was clected to the Ist legislative assembly of part v
state of Himachal Pradesh (1952-56) ?
(A) Krishna Nand Swami

‘(ﬁ) Pt. Padam Dev

(C) Gauri Parsad

(D) Piru Ram
mmmwﬁamﬁﬁuaﬂﬁ“ﬁtﬁﬁtﬁ"%wﬁwﬁﬁ

A T U T’ U feuree Ww A eelt faurgen (1952-56) % fem «ff v ™

q ?

(A) Fom FT @
(B) dfvey wen 2g
(C) T’ ya=

(D) 9= wm

TBC : ECP/25/B/I—D -



23.

Match List 1 with List 11 .
List-I List-11
. (Code) (District)
(@) Highest Rainfall (2018 Data) () Shimla
(6)  Second Most Incidents
Reported (2024 Crime Data) (j;) Mandi

(¢) Fourth Highest Population

(2011 Census) (iif) Kang'ra@)
(d) Fourth Largest Area (iv) Solan

Choose the correct answer from the options given below :

(@) b)) () ()
(A) @) GiD @) Gu)
B) @) Gv) Gi) Gi)
SOV G G Gu) ()
D Gv) @ @) GiD)
et 1w go I 9§ e st .
e 1 Tt 11
(Hehaan) (frem)
(@) Taq sifus aul (2018 =21) () femen
() TEd gag sfus " €
1 TS (2024 ST9UY BA) (i) WSl
(c) FgT gad AfYF S
(2011 ST SEIUAT) (i) SIS
(d) S TR TS A (iv) Ve
ﬁmmﬁﬁﬁﬁﬁﬁﬁﬁﬂqﬁw .
@ ) @ @
(A) @) G @) (Gv)
B) () Gv) @) @)
(C) @) G vy @
M) @) @ G i)
21

TBC : ECP/25/B/I—D



S NP R ——

et Bl
24,  Match List 1 with 11§ List-II

ist-1
List (Starting Year)

(Scheme) ] ” :
(@ Mukhya Mantri Roshnt 015

Yojana

(b) Himachal Pradesh Ho
Development Project

(¢) Mukhya Mantri Gram F
Yojana

(d) Swavalamban Yojana (i) 2020

Choose the correct answer from the options given below :
(@ B) @ )

(A G @) @) G

B) @) Gv Gi) G

© G G) Gv @

D) Gv) & G (i)

T I F g I Y faee iR

rticulture (i) 2019

ath  (iii) 2009

e I gl 11
©IEED) (WRY =)
(o) & & WH dee @ 2015
(b) femrad wew armer fowm (i) 2019
ERCIEE
) J=9 9t UM 9g A (ifi) 2009
(d) wrEade qem (iv) 2020

ﬁmmﬁ%ﬁﬁﬁ‘ﬂﬁwmﬁqﬂﬁm:
@ ®) @ @
(A) @) G @ ()
B) @ (v G G)
(C) Gi)) G) (o) ()
D) Gv) G @) (ifi)

TBC : ECP/25/B/I—D -



25. Match List I with List I] :
List-1

Lisl‘.-ll
(Wildlife Sanctuary) (District)
(a) Kias M) Kullu
(b) Tarla (ii) Shimlﬂ
(c) Tundah ———e iD) Chamba
(d) DBandli (iv) Mandi

Choose the correct answer from the options given below :

(@ @) @ )
AT @ G G Go)
(B) (i) Gv) @) GiD)
(C) Gi) Gvy @ (D)
D) Gv) G G) @)
gt I gaE 11§ fHem wifed .

geit I e II
(FISE . AHIARTE) (Ferem)
(@) =i (i) mee]
(b) aARE () TeTe
) TTE (iff) vl
() el (O

T feu U g A @ W@ W F TE FiE
(@ ) @
(A) @ @) G Gv)
(B) Gi) Gv) @ i)
(C) i) Gv)y @) G
D) @Gv) G @) @

TBC : ECP/25/B/I—D 9

——— — e -



AP

h] Cre wWas i e I"‘(]n "I.I. w i i WE].S hE!].d ..;
: e Was th tn 0ar T

B i | Park
(A) Gir National Park (B) Kanha Nationa

(C) Wildlife Institute of India B Corbett National Park

T wy @ @ 7l 46 Fel FEfeE w1 M ?
(&) fr T s (B) e T FEA A
(C) s wereha wem & (D) wtdz W T A
97. Which of the following is not a constituent body of National Statistics
Office ?
(A) Central Statistical Office
\,(,B’J Data Informatics and Innovation Division
(C) Indian Statistical Institute
(D) National Sample Survey Ofﬁca/
frefafas # § <@ S giferst sEeE w1 wRw fem T8 Y 2
(A) g™ wifeas! wafe™
(B) &1 gu fagm iR T@mEm yum
(C) vRdg wifeTsht Heam

TBC : ECP/25/B/I—D 0




28. Who said e W
these words on the death of Mahatma Gandhi — “We have learned

29.

/pe( The Krishna system

our lesson at a very hj .
a very high price. Is {here anyone among us who would refuse
to carry o i’ ice; i
rry on Gandhi's Mission after hig death. Hindustanis have to unite and

fi i . ; .
ight against that terrible Poison of communalism, which has taken away from

us the greatest man of our times”

(A) J.L. Nehru (B) Vallabhbhai Patel

(C) Madan Mohan Malaviya (D) Sarojini Naidu

Tere Tt B v W 98w gy ey — o ggd @ Hel el WS WAw
drar ¥ T TR A" w5 T S i 9 9 @ 9% ST (HeE H q0 wH
ﬁﬁwmlﬁqmﬁﬁiﬁwﬁmﬂwﬁuﬁqﬁ%ww%ﬁgﬁma@é
Hﬁ%,ﬁaﬁzﬂﬁgﬂa?ﬂaﬂm@maﬁmﬁﬂm%”l

(,Af)/aqa TEF (B) dcwvTE 9

(C) Hed TEd AeEd (D) HlfeH 98

Marble Falls pertain to :

(A) The Narmada system (B) The Tapi system

(D) The Kaveri system

nﬁaﬁﬁwﬁﬁuﬁmﬁf@ﬁﬁﬁiﬂﬁ%?

(A) T TR @ (B) g womelt |
) Fom TR 3 (D) T women ¥
o5 P.T.O.

TBC : ECP/25/B/I—D



located to the east of :

}B{ The Maikal Range
(D) The Telangana Plateau

30. Baghelkhand region 1s
(A) The Malwa Plateau

\é{':") The Chota Nagpur Plateau
weEe a3 frm 1 @ fewd @ A ferm w2
(B) H=1e1 9ot &

(A) OTEE SR &
(D) TN SR h

(C) B/ AR TR =

31. Who decides the disqualification of members of State Legislative Assembly, for
matters other than those in the Tenth Schedule of the Constitution ?

‘QK{ Governor of the State (B) State High Court

(C) Speaker, Legislative Assembly (D) State Election Commission
Hfaym =7 Tad g ® S o= faug W U faurmsn & w@5E F STy
Hifta & w1 favig ®F W & 2

(A) 99 =1 [FEU
(C) 31ead, faurg (D) T=Q A 3mEm

@ What is the objective of ‘Cut Motion’ in the Parliament ?

"~ (A) To restrict day-to-day financial expenditure of Government

(B) I=F 3I=d FEEd

(B) To restrict grants of the Government

(C) To move a proposal to reduce expenditure in budget proposals
(D) To restrict grants from consolidated fund of India
HOg A ‘Il wEaE’ F F IEd dm ¥ ?
(A) &R & fgA-yfafea & fadg @@=l W % &
(B) 9@&R & M W UH A
(C) a5ie ywEl & W= H HH H A &
/D) wra #1 dfed fify € orRR W % @

TBC : ECP/25/B/I—D 26



@ Which of the following best €Xplaing the “Twin Balance Sheet” problem in the
Indian economy ?

(C) Stressed balance sheets of banks and over-leveraged corporates

t_,PD)/ Bad loans in agriculture apq MSME sector
ﬁﬁﬁ%ﬁﬁﬁﬁ?maﬁmﬁnwaﬁgﬁﬁz“wﬁwmm
¥ gEmmE & 2

() ﬁﬁﬁ#ﬂwmmﬁmﬁmﬁﬁ'ﬂm
D) Ffa 3N wHeewd & # wm
Which of the following can cause “Stagflation™ ?

(A) Rapid increase in aggregate demand

B) Sudden supply shock like rise in oil prices
(C) Expansionary fiscal policy
(D) Appreciation of the domestic currency
fefafaa § 4 0 “‘guesia’ 1 SR 99 9%a 2
(A) == @i o 9§ gfg
(B) =M= amqfd Tl 9§ da & sma 3 g
(C) fommEmEt Temrg ifq

.(D)ﬁ(FLEQTEIﬁW

TBC : ECP/25/B/I—D 27 PT.O.



ing Indian States emerged number one in NITI Aayog's

35. Which of the follow

Fiscal Health Index 2025 ?

\E"ﬁ Tamil Nadu (B) Himachal Pradesh

(D) Odisha

(A) afHerg (B) femraa wEw

(C) T
Which of the following best explains “Operation Twist” by RBI ?

(A) It increases CRR while decreasing SLR

(B) It simultaneously buys long-term and sells short-term government securities

(C) It raises repo rate but reduces reverse repo

(D) It involves swapping forex reserves for rupee bonds

freffafad § @ FF RBI g0 AER foe” 9 T o a@ | W ¥ 2
(A) 7% SLR F1 F9 &0 g CRR & Fg@
(B)ﬂ%ﬁmaﬁmﬁnmﬁmwﬁqﬁmﬁﬁaﬁ@fmwm%
(C) ¥ W T g & ofed fgd T H W OF@ ¥

(D) 7@ w0 GiE & fau faw g YeR W eTEe-wee Wi ¥

TBC : ECP/25/B/I—D 28



37.

38.

39.

TBC : ECP/25/B/I—D

Which of the follows P
OWINg cities of India js a wetland accredited city under the

Ramsar Cﬂn\re]-‘tiun ?

(A) Indore
(B) Bhopal

(C) Bengaluru @ B
mp
TR % SR Fefafen 4 T ypg @1 HEG T IEYH ywEifaa e
g2

(A) T (B) sirqre

(©) e (D) =T

When was the National Centre for Disaster Management established in
India ?

(A) 2005 (B) 1975

_(C)y1995 <7 1985

YR H U AR WEET #g H e wd 5 2

(A) 2005 (B) 1975

(C) 1995 (D) 1985

A tadpole develops into an adult frog by the process of :

(A) Fertilisation \_LB( Metamorphosis

(C) Embedding (D) Budding

T+ Y=de fag wew g 99k 1 fawfia € ¥, 98«0 weam § 2

(A) ftem (B) i

(C) Tgor (D) Yo

29 P.T.O.



e

Indian Ocean Conference held at Muscat, \

\
|I|

40. What was the theme of 8th

Oman 7

(A) Maritime gecurity and counterterrorism

(B) Maritime security threats

(C) Economic Lifeline and Trade

(D) Voyage to New Horizons of maritime partnership

W%wﬁmﬁﬁsﬁﬁﬁwmmﬁmwm?
(A) TS TEN IR [parE HOTREA
(BY T A GR
D) i - i
(D) uqf =R & ¢ fefas w A
41. Cocos plate is located between :

(A) Central America and Pacific plate
(B) Asiatic and Pacific plate
(07 South America and Pacific plate

(D) Phillippine and Indian plate
Fiem @ frefdted § A fees e fug v 2
(A) AerEdl ST @ WO HEMrE @R % WA
(B) TRTE 9 WM eI ®R H WA
(C) =ferlt sHfH @ YO WEETE T % 0
(D) frfaftar 9 fews wie & ue

TBC : ECP/25/B/I—D 30



42. Who prepared the “Report of the 1, d
. a-tl |
printed in 1874 ? -

venue settlement of the Kangra District,

€7 J.D. Cunni
1874 4 e (D) Victor Jacqimo
4 F Hfsa @t oy o
- ﬁ?fam‘fmwaéﬁﬁ&ﬂﬁtﬂifamﬁﬁmaﬁ?ﬁ 7

(B) G.C. Barnes

(A) St wrae
—_ (B) <. 9
(C) I.51. =f5ayg .
(D) fage SfFH

Wh i
o among the following was not the Vice-President of the Himalayan Hill
States Sub-regional Council ?

(A) Tej Singh Nidhadak (B) Leela Das Verma

(C) Sadaram Chandel (D) Shivanand Ramaul

Frefafes 4 4 sF “ferer fom wem w@-Gemd FEfaa’’ &1 SU-9EH &
q1 ?

(A) Tl Frues (B) wienerd o

(C) TERME ==d @) frErs @

44. From which constituency Dr. Yashwant Singh Parmar was elected to represent

in (1952-56) Himachal Assembly ?

(A) Rajgarh (B) Pachhad
(C) Renuka _) Nahan
2], gyEd fog wER fewraa fauras (1952-56) T FF@ T &% § 91 W
g ?
(A) T&ITTg (B) T=Ig
(C) T (D) FTeH

31 P.T.O.

TBC : ECP/25/B/I—D



ain Soil Zone in Himachal Pradesh is found between ;
BY 1500-3000 m
(D) 900-1000 m

45. Mount
(A) 3000-6000 m

(C) 1000-1500 m
fenraer wow 1 wddm fagd H AT 9 W ¥ o
(A) 3000-6000 HeX & AHA (B) 1500-3000 HieX & HA

(C) 1000-1500 T = HHA (D) 900-1000 X & AHA

46. Given below are two statements :
Statement I : The Spices Board of India’s headquarters is located at Kochi.

Statement II : India produces 75 out of 109 spice varieties listed by the
International Organisation for Standardization.

In the light of the above statements, choose the most appropriate answer from

the options given below :
V(M Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

9 g1 @y fag Mg

FoT I : YNG9 WEE |€ 6 gEed i o R ¥

waA IO : 9 & fou i e g getes 109 memen fead ° |/ 75
% IR WA F T

SuRfafag wgdl & oMgR W 9 fed T famed 4 € wo@ @ sW o T

Hifed

(A) F99 I &R %97 II AT Tel §

(B) %47 1 &R %94 II 91 T ©

(C) %7 I W8l ¥ iR Fuq II Tord ©

(D) &99 I T © 3R w99 II wel ©

TBC : ECP/25/B/I—D 32



47. Given below are two statementy .

Statement I . India g the second largest arms importer after Ukraine

during 2020-24, per the Stockholm International Peace

Research Institute report.
Statement II :

India has developed two defence industrial corridors in Uttar

Pradesh and Tamil Nadu to boost the defence manufacturing.

In the light of the above statementg choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement I are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

H fgu T € %Y ¥ e

Faa I  SEeH RBeEE U fad g F U $ 9TER, 2020-24 F SRA
THA 5 A€ YRE TOER F SO FEd 991 AERE <9 T

wuT II : WRE 3 & fafmin ) ggm 31 & o S Wy 3R aheag 8
a0 ot Tieen oo f/a €

saffafed sdl & omuR W A K T fawed 4 @ S IW w T
R

(A) wgd 1 3R Fod 11 SF 9 €

(B) ®F 1 &K ®o II <A 7o €

(©) Fo7 1 98 % &R wem 11 oW §

D) Fo 1 Tem ¥ i FwE 1w T

PT.0
TBC : ECP/25/B/I—D 33



45, Given below are two stnlﬂl“‘»‘“ts :
evolt of 1857 in Lucknow started on 30th May, 1857.

Statement I : The T
II: The revolt of 1857 in Kanpur started on 28th June, 1857.

Statement
choose the most appropriate answer from

In the light of the above statements,

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

\1}3{ Statement I is correct and Statement 11 is incorrect

(D) Statement I is incorrect and Statement II is correct

5 feg T S oA T ¢
WI:EIEH’E‘EI'185?@%30?@185?@9‘[‘5‘1@311!“1

Wn:mﬁwwmﬁﬁ%zsvﬁwwaﬁqﬁﬂgm o |

—ofifafad Fod # suR | A &3 1 fawed § R @@ 3 IW A
G ACTIE

(A) Fu7 I 3t w99 11 S FE €

®) ®97 I &R &9 II <A Ted ®

©) ®oF 1 9 & R FoA I Tem

D) o I Tad & AR wed II W8 ¥

TBC : ECP/25/B/I—D 34



49. Given below are two statementg

Stat - <
ement I : Mukund Rao Patil started publishing the mouthpiece of

Satyashodak Samaj, ‘Dinmitra’ from 1910.

Statement II : Natal Indign Congress was established in 1896. At that time

Mahatmg Gandhi was made its President.
In the light of the above statements, chgose the most appropriate answer from
the options given below -
V(Aj/ Both Statement I and Statement I1 are correct
(B) Both Statement I and Statement IT are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct

5 § %99 g U ¥
&g+ I : THedd diied J 1910 F Heyviys Fo9 1 q@ve S e iy

far 4

wUT II ; 7erel 37ed7 wiud f9as] 91 1896 H &1 5 o, 99 39 WHE HeRAl
_ T I SHSI S Gl T AT

ufifarad saHl & R W 99 7 7 fowed § 4 wad ua SW A gIE

'ﬁfﬂ%ﬁ:

(A) F7 I @R Fo7 11 S &t &

(B) ®7 1 3iR Fed I Sri T &

(C) #a I |&t & it 97 II Ted
(D) w97 I Te & it weq 11 T8 €

35

P.T.0.

TBC : ECP/25/B/I—D



. Given below are two stat

—— W

ements :

: Dr. B.R. AmbedKar Was not associated with “Independent Labour

Statement 1

Party” in India.
Federation” in India.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

/¢ET Statement I is incorrect and Statement II is correct

3 few M HIA T :
wad I : ﬁ.a?.m.aiﬁmwﬁr“ghﬁzamvr&”@mﬁﬁﬁt

Wn:aﬁﬁmmﬁr"ﬁwmmﬁ"ﬁmm
mﬁ%ﬁ$ﬁ$wuﬂm=ﬁ%f@ﬁﬁmﬁﬁmsﬁawmw
FHifera

(A) w97 1 @R Fo 11 31 W §

(B) w7 1 3K e 11 I e €

(C) F47 1 T8 ¢ &t Fu= 11 oW ©

(P w1 e & S F 11w R



-

51. Given below are two Statementg :
St.atemeny{: In the Interim Government of 1946, Jawaharlal Nehru was
Prime Minister and Head of the Executive Council of Viceroy.
Statement II : Rajni Kothari obseryed that “It is not politics that gets caste
ridden, it is caste that gets politicised”.
In the light of the above statements, chgose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement IT are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement IT is correct
e I : 1946 i SfaRH TR 1 Tametae Joe WU T & 99 IEEE ) HEE
ftwg & TfEa i
FoT I ;39 FiEd F1 O o £, et s st T g, sfeg Wi
T B T R
SuRfafEd Fa & oMuR W A G T fawed § 8 w9 3 S\ oW g

wHIfeTg
}M/ﬁ?ﬂ"{laﬁtﬁﬂ?ﬂﬁ'ﬂﬁ%
(B) ®a¥ 1 @it wem II 9 Tom €
(C) w1 1 W ¥ SR Fg I ToW ¥

©) TR [ T & ol wuw I W ¥

PT..
TBC : ECP/25/B/I—D 37



atements

i
\-ﬁ‘f. Given below are two st
The Pmduction Linked Incentive (PLID) scheme covers 14

Statement 1 :
cectors, with a total outlay of Rs. 1.97 lakh crore.

The PLI scheme has achieved 100% of its targeted investment

Statement II @
in the electronics sector by FY 2024-25.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement 1 and Statement II are incorrect

(C) Statement 1 is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

Sy few MY g1 HF ® ¢
o 1 : e ¥ 95 Weared (@) AN 14 W e w ¥, o
@W1.97me%t

Wn:maﬁqﬁwﬁﬁﬁad 2024-25 Teh TOERIHE & 1 ety wife Fraw

1 100% @fge FX faar €
mg'aamﬁ%ammmﬁﬁﬁqmﬁmﬁﬁmﬁﬁmﬁmmwﬁﬁﬁ:
(A) Hz 1 3t Faa 1L SF 98 ©
(B) Fa7 1 &t g 11 <Fi Tem ©
(O w1 1 T ¥ el we 11 e T
(D) Foq I e & @R wed 11 Wa T

TRA - ROP/2F/BA—D 38



@)Given below are two Stateme ts
n "

Statement T . Th :
e Nationg] Monetisation Pipeline (NMP) aims to raise
Rs. 6 lakn Crore by Fy 2024-25.
Statement IT . :
The NMPp ncludes mgpetisation of assets in the education

sector.
In the light of the above Statements, choose the most appropriate answer from
the options given below -
(A) Both Statement I and Statement 11 are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

9 fgu T St wYH ¥
HUT 1 : UL HERU UEYEREA (TIoadt) &1 @8 faw o 2024-25 9% 6 @@

FAS T4 AT
w9 I :wundt § foen &9 § oftEefwdl & e wina ®)

SYF FIH H SR WA R M e W w9 SR H T i
(A) Fo7 1 3K FgF 11 <A1 @@t &
(B) 97 I iR Ha I Sl e €
(C) T I Tt & 3R Hud 11 Ter ©
(D) %o 1 Ted & X o I 76§
P.T.0.

TBC : ECP/25/B/I—D oR



54. Read the following statements :

Statement I : Apart from issuing currency notes, RBI regulates all

ggmmercial banks in India.

Statement IT : Regulating NBFCs are not under the purview of RBI

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement IT is correct

Frfafad w99 @1 9ed

Wl:ﬁﬁﬂzaﬁaﬂer%mnmw%mmﬁmfmﬁmﬁqm

f = ©

WH:NBFCsmﬁmRBIﬁqﬁFu%aﬁw?ﬁqﬁm%i
mmﬁ%mﬁﬁmﬁfﬁaﬂﬁﬁHﬁﬁmmwﬁﬁﬂ:
(A) woT 1 T w9 II g W €

(B) 47 I Wd &g II €1 7ol ©

@Eﬁm_lﬂﬁ%@iﬁm II Ted ©

(D) o I Ted § Td wud I wE ¥



55. Read the following Statemenyg .
Statement I ;: Shap. z -
are of ABTiculty e in total GSDP of Himachal Pradesh has

d -

eclined from about 75 percent in 1950-51 to little above 20
percent in 2023.94
Statement IT . .

A.S per El’.‘Dnumjc EUWE}’ 2{]24_25 Df‘the St-atEt hq}wevﬂr, in terms

of employmeny Still 54 percent of the state population is

engaged in Primary

Sector.
In the light of the above statementq

choose the most appropriate answer from
the options given below ,

(A) Both Statement and Statement I1 are correct

(B) Both Statement I gnq Statement 11 are incorrect

(C) Statement I is correct and Statement IT is incorrect

_/CDJ Statement I is incorrect and Statement II is correct
frefafes 95 =t ufen .

FaT 1 : TEIae 529 & e GSDP & fy & =1 feclia 1950-51 @ S109 T
75 W ¥ Ut 2023-24 § 20 whvm ¥ dve s @ 3

&I 11 :¥Eh, WU & s wdum 2024-25 & IER o R § mams 4
H # Wt |u SIEE F 54 whvm e ¥
IR YA & e W frefated d ¥ 9 foew =1 www witeR -
(A) Fg7 1 Td FuA 11 3 ¥ 2
(B) w99 I wd %o 11 3 oW §
(C) o 1 T@ % w@ wud 11 Tom §
(D) w97 1 Tom ¥ wd wed 1 ¥ ¢
41 P.T.O.
TBC : ECP/25/B/1—D



5G. Given below are two statements :

Statement I : India’s first wolf sanctuary is located at Bankapur in Karnataka,

Statement IT : The Indian grey wolf is classified as endangered species by

the IUCN.
In the light of the above statements, choose the most appropriate answer from

the options given below :

‘)X(Both Statement 1 and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
Hi9 € g7 faw M@ ¥
FI7 I : URd W TE 9% AWARTG HAeh & g § fema ¥
e I1 : 9Rdg F 9o 3 S84 0. g Hehelu— yenfadl & &9 § fawfsm faran
™ g
gRfefEd FeH % R | 99 R 1 fwed 4 @ w9d 3f s oW T
HiIfFd -
(A) &7 1 3R &g I <4 o €
(B) %47 I 3R wgd II <Hi Tom

(D) %7 1 7o & 3R %97 11 9 ®
TBC : ECP/25/B/I—D 49



o
=1

Given below are two Statementg

Statement I : The w;
: withdr
awal of USA from Paris Agreement in 2025 will

strengthe
n gh]bﬂ_l Climah} action momentum.

Statement II : Indj .
H ah .
2 1as Indicated 4 ghif in jts climate change approach by

focussi
) Ing less op adaptation rather than mitigation.
In the light of the ab
Ove statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement I are correct

(B) Both Statement I and Statement IT gre incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
44 g T § w9 ¥ :
lezozsﬁq:m.q.mﬂﬁqqqﬁﬁﬁmaﬁaammﬁwﬁr
P HoI WS AN
WH:Wﬁaﬁﬁaﬁawﬁaﬂ?aﬁqﬁaﬁmﬁ:ﬁmaﬁmwm
=1 oF SfEg @ & Had (g g
Wﬁﬁﬁmmﬁﬁﬂﬁﬁaﬁﬁﬁﬂmaﬁmmww
H-ﬂ'ﬁﬂ'a': .
(A) aamxaﬂtwna:ﬁﬂﬁ%
B) @A 1 ot Fu I 3 T ¥
©) aa'ﬂ'—rIva‘a‘\%aﬁTa?mHﬂaﬁ%
D) mmlnaﬁ%ai‘na;mnﬁ‘é’f%
43

P.T.O.
TBC : ECP/25/B/1—D



statements :
58. Given below are two

ﬂ E

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement 1I are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

9 fou T D www ¥ oo
HIT I : TR T WiEHaE 999 8

HIT I T A TeFH W OHaE W sat-ofem fwn § emaR e
wﬁmﬁmﬂ%wwmﬁﬁﬁ@ﬁmﬁﬁ%mﬁﬁmmw
HIToa

(A) %97 1 3R %97 II <1 w8 §

(B) %97 I 3R %97 II <M 7om &

(C) %7 I ¢t & &R Fom II Tom ¥
.\_;D/Jﬁ"ﬂHITIﬁﬁ%GﬂTWII'Hﬁ%

TBC : ECP/25/B/I—D B



- Given below are twg Statementg

Statement I : The yppg, of an

object s a measure of its inertia.

of friction always opposes motion of objects.

In the light of the ab
ove Statements, choose the most appropriate answer from

the options given below -

(A) Both Statement T anq Statement IT are correct

(B) Both Statement I anq Statement IT are jncorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
A< feq e | wEw ¥ .

v 1 : TFEl o5 &1 5=0F S99 Sew = o9 T
wad II 949 §a1 989 95g 1 g o1 Wiy T B

ifafEd 941 & FYUR W 9 &7 ™ faead § § waq g s/ =1 99
St
L/m(WIEﬂTWIIﬁEﬁ%
(B) wua I 3iR &uw II <Fi oW €
(C) wu I @l & 3R weA II Tem

(D) %a I Toa ¥ iR w99 I 68 %

TBC : ECP/25/B/I—D 45 P.T.O.



rs mission pertains to which of the following country 7

60. Tianwen-1 Ma
(B) South Korea

(A) Japan

(C) China (D) USA

b e FrEfefEn § A fEm dmoa e ¥ 2
(A) ST By ot s
(C) = (D) F.ud.u.

Given below are two statements :

61.
Tropical humid climates exist between Tropic of Cancer and

Statement I :
Tropic of Capricorn.

Statement II : Mediterranean type of climate occurs around Mediterranean

Sea.
In the light of the above statements, choose the most appropriate answer from

the options given below :
(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement Il are incorrect

\/(G)/ Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct

w1 : IUEIEUY AR SeErg Fie @ iR T @ % 0¥ U W B

FUT I : YA 9rFKY w9 Y9 §TR & 9/ SR 9 ST )

Suffafan so4 & MUl W e fd 7 fawedi 4 4§ wad s sw w1 9
Hifag

(A) 99 I 3R %99 II SF1 66 ©

(B) &9 I 3R Fed II S T ©

(C) ®o7 I W & aiX T 11 e %

D) %79 [ Tera § R v IT et &

TBC : ECP/25/B/I—D 46



h adl

-t

Given below are twq Statem
ents .

Statement I : The
mEﬂneS
tang most onerous kind of forced labour was to

carry |
et £ T _Dads known as ‘Pund Begar'.
emen : The Be
8ar forms in Chamba State were five in number called

Panj Haqq,

In the light of the ab
ove statements, choose the most appropriate answer from

the options given below -
(A) Both Statement I angd Statement 1] are correct
(B) Both Statement I and Statement I are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
g fGw T <1 wEF ¥
waq 1 : Fﬁﬁﬁ%‘zaﬁtﬂa@immma‘gﬁmﬁ@m ar, fo& ‘g3
AM' & I S S oA
o II ;= U9 H AR & W w9 8 R e wE e S A
Wmﬁ%mmmﬁﬁﬁmﬁﬁwmmmw
FR -
vmém I @i wo I3 w8 §
(B) &g 1 3R HIA I Ff T €

(C)WIH@%afﬂﬂ?HW%

m)WIW%ﬁREﬂ“H@%

TBGC : ECP/25/B/I—D i BQ:



63. Given below are two statements :

Statonie“t I - Thc G'l_lijﬂrs Ur I_Iima{:hﬂ.l Prﬂ.dESh are bﬂ't-h Hindus Bnd

Muslims.
Statement II : Lahaulis and Spitians have Mongoloid features.
In the light of the above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
_{PJ Statement I is incorrect and Statement II is correct
H= g U wYq T :
w7 I : feoma wew & ) 65 ok guemm <M1 €
T I ;oo o) wfifd & wieae @am 3 S
SARfAfed FoHl & HUR W A Y W faredi § ¥ vl st S w1 9@
S |

(A) w9 I 3R w99 I oF @&t >
(B) w¥d I 3R Fy7 II <M 7o &
(C) w7 I W& & ol wg7 I Tom &

D) F I T ¢ 3R Feq 1T wer ¥
TBC : ECP/25/BI—D 48



,

. iven below are
61, & teve Statemen,y |

Statement 1< Roh
tang Pasg lies ip Dhauladhar ranges.

tatementflr’:
S o KUnZum Pa—SS is fa_rnnus - VEHEY Gf Shado*f-‘s.

the light
In 1ght of the abgye Statement_g, choose the most appropriate answer from

the options given belgy, .

ﬁth Statement I apg Statement II are correct

(B) Both Statement I apg Statement II are incorrect

(C) Statement I is correct ang Statement II is incorrect

(D) Statement I is incorrect and Si;atement IT is correct
Eﬂ?l:ﬁﬁ?ﬁﬂﬁﬁﬁmﬁmﬁfmﬁﬁ%%l

FaT I : %99 < 2 & 99 F 9 | uiEs T
Eﬁ%@a%ﬁ%muﬁmﬁﬁﬁﬁnﬁﬁﬁﬁﬁ%maﬁammw
FHiterd

(A) 97 I 3R &94 II <H1 && ©

(B) %% I 3R %% II <Hi Ted §

(C) a7 I wdl & iR &7 I e €

(D) %7 I Terd & AR wgq I 9& &

TBC : ECP/25/B/I—D 49 PTO.



65. Consider the following statements regarding the administrative structure of
Kullu tehsil at the end of the 1Sth Century :
Statement I : Tehsils were divided into waziris, and wazirts into phatis.

Statement IT : Each phati was further divided into kothis.

Choose the correct option :

/ﬁoth statements are correct

(B) Only statement I is correct
(C) Only statement II is correct

(D) Both statements are incorrect

ﬁaﬁ?ﬁﬁﬁwﬁﬁﬂﬁﬁaﬁrﬁmﬁﬁﬁm%aﬁﬁsﬂaﬁmﬁm
Hifsrd
w7 I : dedie @0 fawee Caena’ # @ oo aw teekt’ w VUwE q
FoT I : 7% ‘e’ & g fawem YsEt g e an
frfafan freed § @ 9@ SW OFE
(A) TH Hoq TE g
(B) fa® w97 I W&t ¥l
(C) faw g7 I T& %)

(D) THI w97 |E E §)
TBC : ECP/25/B/I—D 50



c5. Arrange the following states
< Wi

highest to lowest - th share of women-led MSMEs during 2024 from
(3) Telangana (2) West Bengal

Choose the (4) Karnataka

A orect answer from the gpy s Relours

( ), (2), (3), (4) ptions given below :

(C) (4), (3), (2), (1) ‘(I;’] (2), (1), 3), “(‘;7;

frafafas T =1 =g 90p4 (2), (4), (1),

T Tl = .
wﬂnmﬁaﬁqﬁﬁqﬁnmﬁﬁgmmmﬁm.w.@s.ﬁmﬁ

(1) dfeg .
3) e (2) wiy=sm =

. = ama) (4) =FAe®
A R T e A W swow ww wew

(A) (1), (2), (3), (4)

@/(2), (1), (3), (4)
(C) (&), (3), (2), (L)

M) (2), (4), (1), (3)
Arrange the following schemes of Government of India from newest to oldest :
(1) Pradhan Mantri Sahaj Bijli Har Ghar Yojana

67.

(2) Mangrove Initiative for Shoreline Habitats and Tangible Incomes
(3) Atal Bhujal Yojana

(4) Stand-up India Yojana

Choose the correct answer from the options given below :

Ll (1), (@), 3), @ B) @), @), (D), @
©) (1), (3), @), D) D) (@), @), ), 3)
Wmﬁﬁt{ﬁiﬁaﬁmﬁaﬁﬁmqﬁmwﬁmmaﬁm;
(1) wuE HEl TR fasel & W AR
(2) oy STErE I Hd o & T WE
(3) od I are
4) Te-am e Ao
ﬁﬁqmﬁmﬁﬁnﬁﬁRWWﬂﬁm=
B (@), @), @), @ B @, & 49
© (@, (3), @, D D (@), @), (D), @)

P.T.
TBC : ECP/25/B/I—D 2



6S. Arrange these events related to Modern Indian History in chronological

order :
(1) Ganpati Festival started by Tilak

(2) Appointment of a Police Commission Chaired by Andrew Fraser

(3) Shivaji Mahotsav started by Tilak
(4) Appointment of Hunter Education Commission

Choose the correct answer from the options given below
(B) (4), (1), (3), (2)

&) (1, @), @), @
@ W, @), @, @ @ @), (1), @), 3)
amyfie WA sfaem | GAUG W gemsi @ wAHgR atad S

(1) oo g TuNfa Sda & IEE
(2) dgg wer w1 A H e amdm Wi frgia

(3) fao 3 fast @8Rad 1 yEeTE
(4) ®wueX fyren smam &1 gl &

9 fou U fawedl 4 9 W W @ 9w
(B) (4), (1), (3), (2)

(A) (1), (4), (3), (2)
D) (@), (1), (2), (3)

(C) (1), (3), (2), (4)
69. Arrange these Governor General/Viceroy of British India in chronological order.

(2) Lord Ellenborough
(4) Lord Elgin-I

(1) Lord Auckland

(3) Lord Lansdowne
Choose the correct answer from the options given below
(1), (2), (3), (4)

(A) (1), (2), (4), (3)
(C) (4), (1), (2), (3) D) 1), (2), (1), (3)

fafeer e & 57 TR TRA/TAEUT B HEAEIR HIEE F T
(1) @€ aTHeve (2) € TameEq

(3) «rE ageT (4) g Tfem-1

9 5T T fawel § ¥ w8 W w9 S

(A) (1), (2), (4), (3) (B) (1), (2), (3), (4)

(C) (1), (1), (2), (3) D) (4), (2), (1), (3)

TBC : ECP/25/B/I—D 52



70.

71.

Arr

ange the followi
ng uplands
(1) Palghat S ©f peninsular India from South to North :

(2)  Javadi Hills
(4) Rajmahal Hills

correct .
° answer from the opti : low :
(A) (1), (2), (3), (4) ons given below :

(3) Bhorghat
Choose the

(B) (2), (3), (4), (1)

YEEYE YA 1 Frefetfag (), (3), (2), (1)
S 3y afg § w1 SN oafer

(1) Y=
) R F wEiedl

(4) TemEd F1 TElEAl
3 fau o fawed § ¥ W SR W T |

(3) YRER

(A) (D), (2), (3), (4) (B) (2), (3), (4), (1)

(C) (3, (4, 2), (1) D) (4, 3), @), D

Arrange the following tiger reserves of India from North to South :
(1) Corbett (2) Valmiki T )
(3) Indrawati (4) Bhadra

Choose the correct answer from the options given below :

A) (2), @), (1), 3 LB (), @, @), @
) 1Lk (3), (2), (4) (D) (1), (4), (2), (3)

ﬁ%ﬁqmﬁﬁﬁﬁﬁﬁﬁﬁﬂﬂﬁmﬂaﬂm:
@) (D), @) (3), (4)

(A) (2), (4), (L (3)
@) (1), @), (2), (3)

4
© (D), 3), (2, 4 P.T.O.

63

TBC : ECY/ 25/B/I—D



72. Arrange the following freedom movement events in order of their happenings

(1) INA Trial
(2) Quit India Movement A1l
(3) Civil Disobedience Movement _ 43

(4) Non-Cooperation Movement 320

Choose the correct answer from the options given below :

(A) (D), (2), (3), (4)

w"ﬁ{@), (3), (4), (1

(©) (3), (4), (1), 2)

ﬁ) (4), (3), (2), (D

ﬁﬁamaiﬁméﬁwwaﬁmaﬁﬁﬁﬁ#mﬁm@:

(4) eraEET SR
ﬁ%ﬁqmﬁﬁﬁﬁﬁuﬁrwmgﬂﬁaﬁﬁﬁ:
A) (D), (2), (3), (4)

(B) (2), (3), (4), (1)

(C) (3), 4), (1), @

D) 4), 3), (2), D)

TBC : ECP/25/B/I—D 54



(8) Unified Payments Interface (UPI) 2016

(4) Account Aggregator Framework o 0|2

Choose the correct answer from the option
s

(A) (D), (2), (3), (4)

given below :

®) (), ), (4), (3)
EEE@), ), 3), ()
@) (3), (2, (), (4)

fFrefafen H1 @ & fadta &5 3 i ge ot @ 94§ HER oratm
HIe

(1) fe-zEm w19 Jeiz (RTGS)

(2) Wra TRFE % W (NEFT)

(3) FHEIE LW THE (UPI)
(4) ITFEZ WX HWHEH

i feu g fawedl ¥ ¥ Wl IW & A Hifsd
(4) (1), (2), (3), (4)
(B) (2), (1), (4), (3)
(C) (4), (2), (3), (1)
D) (3), (2), (1), (4)
TBC : ECP/25/B/I—D 55 P.T.O.



-4 Arrange the following monetary policy tools by the order in which RBI typically
4. F -

uses them to control inflation :

(1) Open Market Operations (OMO)

J

N

G

A

/X2) Repo Rate Hike
k:":.-'
Y (3) Cash Reserve Ratio (CRR) Adjustment
@(4) Statutory Liquidity Ratio (SLR) Adjustment
Choose the correct answer from the options given below :
(A) (1), (2), (3), (4) (B) (2), (1), (4), (3)
_/(ﬁj/ (4), (2), (3), (1) D) (3), (2, (1), (4)

frefafas G Hifg SUHET ) 5§ w9 § sgafed wiea fawd RBI 3THRR ©
TEERITe H FEET F B U IRl SUEN HE ¢

(1) g a=R gR=red (OMO)
(2 A gfe
(3) T 3MfEa gu (CRR) WA

(4) e W A (SLR) VRIS

7 g U fwedl § 9 98 SW W 999 Wiea

(A) (1), (2), (3), (4) | (B)

(C) (4), (2), 3), (1) (D)

TBC : ECP/25/B/I—D

(2), (1), (4), (3)

(3), (2), (1), (4)
56



;5,"’ Arrange the following
b" »

items

in . ;
descendlng order as percentage of GDP in
India :

(1) Gross Fiscal Deficjt

(2) Gross Domestic Capital Formatiop
(3) Central Government Debt

(4) Gross Tax Revenue
Choose the correct answer

from the options given below :

(A) 3), (2), (4), (1) (B) (@), (3), (4), (1)

(C) (3), (2), (1), (4) D (2), 3), (1), @)

frafafe 76l %1 wRa % GDP 3 whnm % =g § w2y @9 § oAt =160 -
(1) 9Fd UAHEE =

(2) Tea =el ol Fafm

(3) g WHR H T

(4) ¥ L ATH

frefaten fawedl § § W& SW H =999 S ¢

(A) (3), (2), (4), (1) B) (2), 3), (4), (1)

() (3), (2), (1), (4) M) (2), (3), (1), (4)

P.T.O.
TBC : ECP/25/B/I—D 57



=6. Arrange the following states in descending order as per Worker Population

Ratio (WPR) of all ages according to PLFS 2023-24 report :

(1) Punjab
(2) Himachal Pradesh

(3) Haryana

(4) Uttarakhand
Choose the correct answer from the options given below

(A) (1), (3), (2), (4)

B @, @), (1), )

(C) (3), (2), (1), (4)

D) (2), (3), (1), (4)
PLFS 2023-24 iR & @R frafafa a4 = 37 sifdsh S@EET U6 &

YR 9 ¥4 A H gaiegd &g

(1) v

(2) fenrad W

(3) wfkarom

(4) SUUEe _

frefafe fased § @ T8 W F T99 HilSA
(A) (1), (3), (2), (4)

(B) (2), (4), (1), (3)

(C) (3), (2), (1), (4)

(D) (2), (3), (1), (4)

TBC : ECP/25/B/I—D 58



- Arrange the followip,, —

. lﬁgir:al
(1) Tropical Andes hotspots of the World from West to East -
@) Upper GuinEan ansts

(3) Eastern Me‘ﬂagaskar

(4) Melanesia (Ney, Calednnia)

Choose the correct nswer from B | |
A (1), (), 3), (4) Ptions given below :
©) (3), (4), (1), (2) B) (2), @), @), (1)
fara = Fratefes i m\mé). (3), (2), (1)

S - T yfram A qd % %9 § =atem
(1) SUFzadg vy
(2) 90 e a3
(3) IS TR
(@) TR (3 BdSfan
(A) (D), (2), (3), (4) B) (@), 3), @), (1)
© 3), (@), (1), @) ©) (), (3), @), (1)
78. Arrange the following National Parks of India from West to East :
(1) Kanha (2) Vansada
(3) Kaziranga (4) Bhittarkanika
Choose the correct answer from the options given below :
(A) (2), (1), (3), (4) ~(B) (1), (3), (2), (4)
(C) (2), (1), (4), (3) | BT (3), (), (4), (1)
m%ﬁmﬁmr@uvﬁﬁqﬁaﬁﬁqﬁﬁwﬁmﬁwaﬁﬁﬁ:
(1) Fr= : (2) =EE
(3) =refiEm (4) et
A oy T fowedt # @ W@ IW F1 AT wRA
(A) (2), (1), (3), (4) (B) (1), (3), (2), (4)
(C) (2), (1), (4), (3) D) (3), (2), (4), (1)
TBC : ECP/25/B1—D 59

P.T.O.



79. Arrange the following substances in inereasing order of their pH value :
(1) Gastric Juice (2) Milk of Magnesia
(3) Lemon Juice (4) Pure Water
Choose the correct answer from the options given below :
(A) (1), (2), (3), (4) d(é (4), (3), (2), (1)
(C) (3), (4), (1), (2) (D) (1), (3), (4), (2)
frefafaa el w1 396 pH HH @& YR W d9gd %9 § ogareyd Sifted
(1) X ™ (2) e @t Tt
(8) g #1 W™ ) e v«
A9 Ry e freed § A W IR F T
(A) (1), (2), (3), (4) (B) (4), (3), (2), (1)
(©) (3), @), (1, (2) @ (@), 3), @), @)

80. Which position India got in the Global Innovation Index 2024 ?

(A) 85th .(H{ 39th

(C) 55th (D) 25th

Taﬁaasﬂ%ms'éwzmﬁmmaﬁaﬁﬂmwmgan?

(A) 35597 (B) 3957

(C) ssaf D) 253’(

TBC : ECP/25/B/I—D 60



\\\\\?rl -
|t s1. Arrange the following T
1Cc
|: (1) Scotia plate Plates of world from North to South : e
| LastAd
! u CA

(2) Cocos plate _ Qoo
i Sl
f‘ o I.\_Q_C‘-*-x :

4
| Choose the correct answer from (4) Juan De Fuca plate
the options given below :

(A) (1), (3), (2}, (4)
(C) (@), (2), (1), (3) (m?unmﬁa
o R < 4), (2), @), (D
o W RS Y e e # o Hifed

(3) Nazca- plate

(1) ERfvE @ @ e @
(8) T 4) v € W W
43 fu o feed § A W@ W W g AR
(A) (1), (8), (2), (4) (B) (4), (3), (2), (1
(C) 4), (2), (1), 3) M) (4), (2), 3), (V)
Pradesh in chronological

g2. Arrange these foreign travellers who visited Himachal

order :
(1) Captain M“ﬂd@ (2) Baron Hugel @
(3) J.B. Fraser@ (4) Alexander Gerard

Choose the correct answer from the options given b

a) (2), (1), 3 (4) (B) @), (3), 1), (2)
O @), (1), (2), 4)

(e ®, @, 0@
mﬁaﬁﬁﬁaﬂﬁuﬁﬁaﬁwmﬁmﬂfﬂﬁ:

elow :

foqrae wow H WU
1) de TS (2) o T
(3) el FR (4) SIS SRS

ﬁ%mmﬁmﬁﬁﬁnﬁmwwﬁm=
®) @), ®), 1D, 2

o) @), @, (2), (4)
61

(A) (2), (1), 3); 4)
©) @3), @, Q) (2)
TBC : ECP/25/B/1—D

P.T.O.



83. Consider the following statements :
(1) The first step in rural electrification was taken on January 14, 1958 when

lights were switched on at Sundernagar.

(2) At the time of electrification of Sundernagar in Mandi district, its population
was nearly 12,000 when its 20 nearby villages in fertile Balh Valley were
given electrification.

(3) The electrification programme in the state was divided into two parts (i)
Local power generation was proposed in high valleys remote from the district
headquarters (ii) The lower belts of the state near Punjab were to get
electricity from the Nangal and Uhl river feeder.

(4) The Shanan powerhouse is currently under the control of Punjab State
Electricity Board and whole of the revenue goes to Punjab Government.

Select the correct answer given below :

(A) Only (1) and (3) are correct  (B) Only (3) and (4) are correct

(C) Only (1) and (2) are correct (D) Only (4) and (2) are correct

= $g91 | =R Hifed :

(1) T faedieor W 9sel Hed S 14, 1958 FRTIR T TeHT St Y& fha
™ 49l

(2) Wﬂ%ﬁgﬁﬁw%wmm 12,000 T ST i | TH THI ITH
Fog I (9UEl fod) & I 20 Tifai i faset ¥ =Sy fwm T oan

(3) w7 # fagdie & wEwa H A i § fwfed feE a1 (;) TSren qeared
ﬂgﬁ@@amﬁmﬁeﬁﬁmﬁumaﬁmmwnﬂn (i) T =
iﬁﬁﬁﬁmﬁmﬁvﬁﬁﬁﬂﬁﬁﬂm?ﬁﬁiﬁm(qﬁm)%ﬁﬁ?ﬁ

et 4t
(4) o Faseite < adam § gore weR faga A & Feem # T ee w0 e

Uog TR & ol el

o wae § @E S g e
(A) Fad (1) &R (3) 9% § (B) Faa (3) 3t (4) 9% ¥

(C) T (1) &R (2) 3% % (D) Faa (4) R (2) I
TBC : ECP/25/B/I—D 62 :



Mﬂtch the rﬁpmse“tative

. ot pri e . e as their
‘_epresentatwe of pﬁpulation rl Meely iy states who pﬂmcupated as

single state : °F the congtitytion of Himachal Pradesh into a
List 1
Repre : List 1I
(a) (Sur:t ;:;t;zl:a::ame) (Name of the Princely State)
(b) Hira Singh Pg) ) Jublin‘l
(¢) Bhaskara Nanq . "“'--..~(u) Bha:ult
(d) Salig Ram Tejta 2:)) E: [:;1
Choose the correct answer

@ b)) (o (d)
(A @ G Go) (if)
B) Gv) @) Gin) @)
ef G G G,
D) Gi) G) Gv) )
vt fred & ufeffrdt S oroh fams @ sty @ w9 8 feee W@ @
@mﬁmﬁmﬁmﬁhﬁ'ﬂwﬁﬁfﬂamm:

= 1 T I
(ufafter = <) e =T )
(@) T TH FhmT (@) =
(b) @ fHg U= () o
{c) WU A< (i) ==
(d) wrfem T qste (w) feam
HEl IW Eﬁi’f :

(@ & @©@ @
(A @ @) (v G
B Gv) @ G 6
©) (v G G @)
M) @) G () @)

TBC : ECP/25/B/I—D 63 P.T.O.



What is the audible range of sound for the average human ear ?

/HJ{ 0 Hz to 20 Hz

(D) 50 kHz to 1 MHz >3

S5,
(A) 20 Hz to 20 kHz

(C) 20 kHz to 50 kHz
Wq@ﬁ@ﬁﬁiﬁmmmw%?
(B) 0 Hz ¥ 20 Hz

(A) 20 Hz ¥ 20 kHz
(D) 50 kHz ¥ 1 MHz

(C) 20 kHz I 50 kHz

86. Consider the following statements :
a total of 89 Ramsar sites on February 2, 2025. )ous

(1) India has
(2) Udhwa lake is the first Ramsar site of Jharkhand/:a w

(3) Khecheopalri Ramsar site is in Tamil Nadu.—"
ebrated at Sundarbans in

Vorld Wetland Day 2025 was organised and cel

%
West Bengal.

Choose the correct answer from the options given below
(A) (2) and (3) only (B) (1) and (4) only

ﬁ?/(S) and (4) only
frafafaa Hed ® R FifE
(1) 2 TRE, 2025 W 9RA H 89 THW e &

(2) 1 ¥ FREE B FAH TR A T

(3) BAYRR TR T a3 fem g

(4) ofeam ST @ goted H fava omyfH fe 2025 W1 smASH fHE T A1
3 o o fawedl B R W IW H YA HIfod

(A) @ (2) 3R (3) (B) Haa (1) 3R (4)
(C) waa (3) 3R (4) (D) = (1) 3R (2)

TBC : ECP/25/B/I—D 64

(D) (1) and (2) only



>

87 Consider the following Statementg .

(D—35th Nation
<

al Gamesg held iy Patna

i 0
() 39th National Games will be helq 1 Moghalaya, X [l
e

(3) “The mascot for the 38th Nationa] Games was Mauli, inspired by the

Himalayan Monal.
(4) Haryana was the top performer in 38th National Games.

Choose the correct answer from the options given below :

(A) (2) and (3) only " B, () and @ only

M and (3) only

(1) 389 & Sd 9 H Efem fFg )

(C) (2) and (4) only

frefafea 9 | four =it .

(2) 399 U= O« HOd H oEifaa feu smE)

(3) 389 TN Wl & fou ye TR @, W feueEs Ane | ka9
(4) =femn 388 U S d TEE wiae § ¥H W 90

4 fer T foEed d ¥ W@ IR W A DI

(A) Haa (2) X (3) (B) wad (1) 3R (2)

(C) Haa (2) 3R (4) (D) Haa (1) AR (3)

TBC : ECP/25/B/I—D 65 P.T.O.



_

SS. Consider the following statements :
-.(1] Mir Mahboob Ali Khan, the 6th Nizam of Hyderabad was the only ruler

x of India to be given the title “His Exalted Highness”.
\,(2) On the basis of Mountbatten plan, the British Parliament passed the Indian
= Independence Act’ 1947 on 28 July 1947.
(3)” The Raja of Dhaulpur Riyasat told Mountbatten with tears in his eyes
‘that this has broken the old relationship of our ancestors and the ancestors

of your Emperor which was going on since 1765".

(4) The Cripps proposal was a failed attempt to treat a child who was not

" even born : — Pattabhi Sitaramiya.

Choose the correct answer from the options given below :

87 (3) and (4) only

(A) (1) and (2) only
(D) (1) and (4) only

(C) (2) and (3) only
frofafas s w faER sifvd -
(1) it WeGE e @H, AR & o3 fem, fegwam ® wwee wes 4 faw e

wFees wEAg’’ @ feam faen @i
(2) WETEeA e & MR W faftw dug T 28 YO, 1947 W WRAE T

Afafy 1947 wita &4
(3) HiaR fama & s F off@l H oy WK HEdA ¥ FEl I - 'THI TR
TE H1 SR S WHE & [EEl 1 98 (WA He" g TE Sl 1765 ¥ Wl

an T oan’
(4) fFm wE 39 9=3 &1 fafdcar F1 3FEa ¥o @1 St 1 & @ gen @1 —

eIy HiaHar |
99 e U fowedi § ¥ GE W FH T Hied
(A) Faad (1) 3R (2) (B) wad (3) 3R (4)
(C) wad (2) 3R (3) D) =ad (1) 3R (4)

TBC : ECP/25/B/I—D 66



5. Consider the fnllnwing statem
H s Ents .

1) No Viceroy j i
( ¥ In moderp times hyg been subjected to a fie
Lytton — P g Roberts,

rcer criticism than

h : i
2 1o e yeor 1907, D, Karve founded Indian Women’s University in
Mumbai.

/(Bﬁ he South Indian Libera) Federation later came to be known as the Justice
Party.

/(4)/ Vipin Chandra Pg] founded the ‘United Indian Patriotic Association’.

Choose the correct answer from the options given below :

(A) (1) and (3) only (Bf (2) and (3) only

)(fé) (3) and (4) only (D) (1) and (4) only

(1) Nyfer Fa H oot =<1 e foea =t g8 %, Sa foedll o= aoeE =6
T g — W3 Teed!

2) T8 1907 # dH. = F wad # wrdw o favafaucE @ @ @)

(3) =fEul YRAE WRART @9 Hi & FERR T TE T HE SH oA

@ fafrrez T 3 g dfe s TRfAwR’ w0 T F o

ﬁﬁqwﬁmﬁﬁﬁuﬁwm%ﬂﬁﬁﬁ'&;

(A) &aFa (1) 3R (3) (B) wHad (2) 3R (3)

(©) @aw (3) 3R (4) (D) FF@ (1) W (4)

PT.O.
TBC : ECP/25/B/I—D 67



e e ——— e e o T

90. In which year “The Co-operative Credit Societies Act” was passed ?

(A) 1901 (B) 1903
D/{Gﬂ" 1904 (D) 1907

frg of 'weEr o @fifa sfufrm” of@ fEm T @ ?

(A) 1901 (B) 1903

(C) 1904 (D) 1907

91. Consider the following statements :

(1) Accelerated Irrigation Benefits Programme was launched in 1996-97,

(2) Command Area Development Programme was taken up in 2014-15

}Sf)/Hydm}ngy Project was launched by Government of India with the Worlg

Bank assistance in 1974-75
) Pradhan Mantri Krishi Sinchayee Yojana was launched druing 2015-16

Choose the correct answer from the options given below

(A) (1) and (4) only (B) (2) and (4) only

(3) and (4) only
frafafas w4 W fF=r ey
(1) @fa fd=d @y sEET 1996-97 4 Y& fean mar an
(2) wuve &7 faem FEwT 2014-15 H WRY fwm T
3) wm%wm-nﬁﬁﬁﬁﬁaﬁnﬁaﬁwﬁaﬁvﬁﬁwmﬂﬁﬂ
@) wyH At Hfu fEuE A F PERy T4 2015-16 H TR

F2 feu MU fomedi H @ WE SW B TG e
(A) Sad (1) 3R (4) (B) @ad (2) 3R (4)

(C) &ad (3) 3K (4) (D) ad (1) 3R (2)

(D) (1) and (2) only

TBC : ECP/25/B/I—D 68

i




9. Consider the follgy

(3)/'?119 Coromande]

’ /(43/0c

the Bay of Bengal between 8" and 14° N.

Coastal ropy
- . . .
- B10n receives more than 90 percent of its rainfall
riNg summer seasgp

tober and Nov
ember m
onths represent a primary rainy season in Kerala.

Choose the correct answer from the options gi below
given belo

) (38) and
/ (4) only (B) (2) and (4) only

TBC : ECP/25/B/I—D

(C) (1) and (2) only (D) (1) and (3) only

frafafed F9h W faar Fifsd .

(1) S=1 % dm 9Ra § wea-faeer § ge-faen 9% ©d T

(2) S F TWE H TR G H A a1 wwaa 8° 8 14° I & HA Hixa
2 B

3) mﬁ@*ﬁﬂﬁﬁ%ﬁmﬂaﬁmmﬁﬂmmmﬁmﬁﬁm

caciid
@) Emﬁtwq@ﬁwﬁmﬂﬁawmaﬂuﬁﬁfmm%l

(A) daa (3) 3R (4) (B) Fad (2) 3R (4)

(C) =waet (1) 3R (2) (D) Haa (1) 3R (3)

69 P.T.O.
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Q3. Consider the following statements -
(Dénstitutiuna] Draft Committee had seven members.
&
Fd

,}2'/ B.R. Ambedkar was Chairman of Drafis Committee.

/7 (3) Jawaharlal Nehru was one of the member of that committee.

;.C[—i) Mohammad Saadulla was not member of that committee.
Choose the correct answer from the options given below
(A) (1) and (3) only (B) (2) and (4) only

+40) @) and (3) only ‘_/ej)/ (1) and (2) only

==ioiad =99 9¢ 99 Sied ¢

(1) Igam =1 99 9ibh & 96 95 91

(2) 4I.ARK. Has=< HUE THG & =g 91

(3) SETR{eTd Tew didld = 9 7 9 W 491

(4) Hiee drRer S9 99 % 959 el 91

-~

5% ST ¢ f9Fed § ¥ HWal S T §96 ®ied

(A) Faa (1) 3R (3) (B) =aa (2) 3R (4)
(C) =aa (4) T (3) D) =& (1) 3R (2)

TBC : ECP/25/B1—D 70



ol Consider the t‘nlluwing St“temonts ;

NA trial wq inits
_/(,11/1 : % fest ‘Nitiateq ABainst Shah Nawaz, Prem Sahgal and G.S.
Dhillon.

yﬁ; ubhash Chandrq Bose was Main leader of defence team.

(3) This trial wag held iy a secretive manner

(4) From Congress Party Jawaharla] Nehru, Tej Bahadure Sapru and K.N.

defence of these NA soldiers.

Choose the correct answer

from the Options given below :
/«A/) (1) and (2) only “®) (3) and (4) only

Katju ready for

(C) (1) and (4) only D) (2) and (3) only

ﬁrafaﬁaHEHﬁintﬁa’r{ﬁh&:

(2) G SN I S A A % e S A

(3) IE HHaH T s q T w9y

4) ﬁnmaﬁmﬂwﬁzﬁaﬁﬁﬁﬁﬁﬁm%@mm
a5 @Elg |y 9 H.U. Ry @R )

AN Ry e fawed A ¥ Wl SWow g Wiy

(A) Haa (1) 3K (2) (B) whad (3) 3 (4)

(C) Faa (1) 3R (4) (D) e (2) 3R (3)

P.T.0.
TBC : ECP/25/B/I—D 71

»
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95. Consider the following statements .

(1) Article 13(2) provides reservations to backward classes.
s e -

(2) Article 15(4) and 16(4) provide reservations for OBCs.

(3) Article 15(6) and 16(6) provide reservations to EWS of society.

(4) Article 14 provides reservation for SC & STs.

Choose the correct answer from the options given below :

(A) (1) and (2) only -}Bﬁ (2) and (3) only

(C) (3) and (4) only (D) (4) and (1) only

Tefafe Fom | faar s .
(1) ¥g=R 13(2) TU=s1 o &1 SRew werT = )

(2) eg=sx 15(4) 9 16(4) 79 fUze o1 1 Ry T T 5

(3) &1g=R 15(6) 9 16(6) anfdw w9 A fwSt N aREY FeF F@ F
(4) aaﬁm&aqﬁawﬁramaqﬁawrﬁaﬁmmmm%n
e Re 1 fowedi § 4w sw w1 g9 St .

(A) e (1)6%{(2). (B) whad (2) 3iR (3)

(C) wad (3) iR (4) (D) ad (4) 3tk (1)
TBC : ECP/25/B/I—D 79



| @F) Which of the fUHDWi“E statementg
about India’s inflation trends in 2024 are

cﬂfrect /4
(1) CPI inflation fe]] ¢, 3.65% ;
| 9% In August 2024,

(2) Core inflation remaineq abo

WP | ve 4% throughout FY 2024-25.
(3) I inflation turned negative in Q1 2024-25
4) Food inflati |
(4) ation was the primary driver of CPI increases.
Choose the correct statements from the options given below :
(A) (1) and (4) only (B) (2) and (3) only

(C) (1) and (2) only (D) (3) and (4) only
2024 H Wﬁgﬂ?ﬁﬁuﬁﬁﬁaﬁﬁﬁ%@ﬂﬁﬁﬁﬁﬁmﬁ@

£ ?
(1) e 2024 # CPI qaresifd it 8.65% & g |
(2) faw = 2024&5%%@1@@%&!4%%%@1

3) WPI Taehifa Q1 2024-25 f TEE® B TR

(4) @mggmﬁﬁfcmqﬁ;mwﬁmwsﬁu
i B 4 WA FOE F G H

f= g T
(4) e (1) A @) (@) @9 (2) R (3)
(C) Hae (1) 3 (2) @) @ (3) IR (4)

TBC : ECP/25/B/1—D 73 P.T.O.



97. Which of the following statements about India’s startup ecosystem in 2024 2

corr ?

(1) India had over 1.17 lakh recognized startups.

(2) The Startup India Seed Fund Scheme disbursed Es. 1,000 crore,

ﬁj (3) Unicorn startups doubled in number since 2020.

/4 The National Startup Advisory Council was dissolved in 2024.

Choose the correct statements from the options given below

){4(1) and (4) only (2) and (3) only
(C) (1) and (2) only \,ﬂé) (3) and (4) only

2024 1 URd ® WU IRIfGRA & Gr # frefared § 8 HEAE SY

g ?
(1) 9@ d 1.17 @ ¥ Afus Aa ww RS §

(2) Wy fed 9 we Ao A 1,000 wUe T faaia &3
(3) zozoﬁqﬁaﬁmémaﬁﬁwmavﬁl

(4) u@awﬁmmmzmﬁﬁnmﬁﬁ1

9 fRu g fowedl § 4 W& FYH H T R

(A) e (1) 3R (4) (B) e (2) 3R (3)

(C) &aa (1) 3 (2) (D) Had (8) 3R (4)

TBC : ECP/25/B/I—D 74



o,
s

o8 Consider the fnllnwing Statement
: 8

@ Soil is important for life op earth

/0(2) Removal of lang Surface by ice is known as erosion.

. /(9) Clay and loam ggj) is used to m:ake pots

y/clayey soil is used tq 8row cotton crg
P.

Choose the correct answer from the options given below :
(A4) (1) and (2) only (B) (2) and (4) only

(C) (1) and (3) only M and (4) only

frafafea wo[ W =R iR .

(D 921 gt W S & fae wee ¥

(2) 9% = FRI T i FU TAE H TN AUWGT Headl ¢ |

(3) aﬂﬁﬁﬂzwmaﬁﬂaﬁmﬁﬁﬁmw%

@) fawd faedt @1 Swd FUW W HEG I F ¢ FEEA S e

A Ry T ol # § W@ S A I A

(A) e (1) R (2) (B) @ad (2) 3R (4)

@) FFE (1) 3 (@)
75 P.T.O.

(C) hae (1) 3R (3)
TBC : ECP/25/B/I—D



99 Consider the following statements :

(1) A concave mirror always forms a real image.

—

T —
— -

{2)/A real image cannot be obtained on a scree_ﬁ'

@3 lens always form a virtual 1mage _j.e,@j v‘,\,agﬁ_

t A concave
(4) /White light is composed of seven colours.

Choose the correct ansver from the options given below :

(B)(2) and (4) only

(D) (1) and (3) only O ) \_.

(A) (1) and (2) only

(C) (3) and (4) only
fﬁﬁﬁéﬁmq{ﬁﬁﬂﬁﬁﬁ‘ﬁ:
(1) =iEae <Y Hed SrEEE Aidiad aan gl

(2) ar=ifa® Wiatad #1 96 9L UG Fel Rl = Hehdl
(3) mﬁa@mw’iuﬁﬁam%t.

(4) ¥ad 9F19 TG 9U1 &1 {49 B

9 feu T 9 § § wE e F gAE Hied

(A) &ad (1) 9 (2) (B) @Had (2) 3 (4)
(C) &ad (3) &N (4) (D) waa (1) 3 (3)

TBC : ECP/25/B/I—D .



0. Consider the follm\'inu- stat
= DII\.DI]‘Q .

(1) World Day of Socy S s
) -
clal Jye tice jg Celebrateq
Q on February 28,

_igl"'\\’orld Day OFSUCi'ﬂ
: ' & Justj =
0 2025 theme was “Empowering Social Protection”.

437 World Dav of Soei
_ : 0 :
- cial Justice Was established by UNGA in 2007.
,/H.‘) World Day of Social Justice j ym
o €€ 1S commemorated to combat unemployment,
social exclusion and poverty

hoose
C the correct answer from the options given below :

(A) (1) and (2) only _(B)X-®) and (3) only
JE((S) and (4) only (D) (1) and (3) only

e 99 W faer Si6m -

(1) Tava wmEise =g a9 28 wE0 &1 ¥ @ S

(2) fava gmifss =@ fGaq 2025 =1 fawg 'wmifses qan & 9vea’’ sAe a9l

(3) Tova wmifes =g fGag UASHG g7 2007 H wfw foean mn e
(4) mammamﬁaﬂaﬂmﬁ,wﬁaaﬁwaﬁﬂnﬂaﬁ%ﬁm%m

T S g

ﬁﬁqmﬁaﬁxﬁﬁﬁaﬁmw?ﬁaﬁ%ﬁ:
(A) Saa (1) 3R (2) (B) Hed (2) 3 (3)
@) @@ (1) AR (3)

AR (4)
(C) shad (3) i P.T.O.

RO . mopoEMRMI—D



